LEQ Causation Outline Example

Prompt: Using specific examples, analyze the causes and effects of the Industrial Revolution in Western Europe from 1750 to 1900. 

Paragraph 1:

Context: Two to three bullet points to establish context (time, place, background).  Describe how the topic of the prompt relates to broader regional, national, or global events occurring at the same time.  

It has been said that the Industrial Revolution is the second most important event in human history and that it is only surpassed in importance by the Neolithic Revolution. The way of life of most humans changed dramatically in the last 300 years and most of those changes can be traced directly back to the revolutions in production and economics that took place around the year 1750.  

Thesis: must address a cause AND an effect, (2 causes and 1 effect or vice versa) and have the time period and the locations():

In Western Europe between 1750 and 1900 the Industrial Revolution saw rise due to technological innovations never seen before to man as well as a shift in population patterns that led to a work-force that was ready to take to factory jobs. The effects of the Industrial Revolution can be seen in the exploitation of a new industrial working class, that would further lead to many class tensions that would proliferate throughout much of the Twentieth Century.    

*Note that I have given the SPECIFIC cause and the SPECIFIC effect. Also, note that there are no “you have to explain the effects in the thesis” rules here like there are in the Comparison LEQ. 
Paragraph 2:

1 Broad statement of cause:

Technological innovations were one cause of the Industrial Revolution. 

Evidence: Specific and DIRECT example of the cause related to the broad statement above

There were numerous technological innovations that led to the rise of the Industrial Revolution, most of which were concerning the mass production of goods. Steam powered machinery led the way in many factories of the era allowing for facilities to produce exponentially more products with exponentially less man-power and time restraints. Additionally, railroads and steamships allowed for both manufactured goods the raw materials to produce those goods to travel quickly and efficiently. 
Reason: One reason for the SPECIFIC CAUSE above. Why is this a cause? (IF YOU DON’T HAVE A REASON, DON'T GIVE AN EXAMPLE!)

Technological innovations caused the Industrial Revolution because they allowed for much more efficient and profitable manufacturing and transport of goods. Because these innovations led factory owners, merchants, and even state leaders to make large profits on goods, they continued to innovate, thus leading to further growth, which led to further innovation which solidified the power and influence of the Industrial Revolution throughout the era. 

Paragraph 3:

1 Broad statement of an effect:


The Industrial Revolution led to a new class, the industrial working class, which quickly became exploited by the owners of production. 


Evidence: Specific and DIRECT example of effect related to the broad statement above

The industrial working class moved from rural areas to the cities in search of work and provided the backbone for the Industrial Revolution. This new social class lived and worked in crowded and unsanitary conditions, yet were forced to do so by an economy and a ruling class that sought profits from those working poor. 
Reason: One reason for the example above. (IF YOU DON’T HAVE A REASON, DON'T GIVE AN EXAMPLE!)

The Industrial Revolution led to the creation and exploitation of a new class of people because new agricultural techniques and the end of feudalism had left many peasants without a means to provide for themselves or their families, so they move to the cities in search of work. When factories began to open at the beginning of the Industrial Revolution, they found their most important components in human laborers from the lowest classes of European citizens. Leftover attitudes towards the lower classes from the Middle Ages may have led to their subjugation and exploitation by the bourgeoisie, or the industrial middle class, or more modern motivations of gaining and maintaining power through the means of global capitalism may have been just as influential in the process.  


Paragraph 4: 

ANOTHER broad statement of a cause or effect:


(Another cause) Another cause for the Industrial Revolution was a shift in population patterns. 

Evidence: Specific and DIRECT example of cause related to the broad statement above

A surge in population was also a cause for the Industrial Revolution. Throughout the agriculture age which began roughly 10,000 years ago, the world, and Western Europe in particular had witnessed a gradual increase in population. However, at the start of the Industrial Revolution, numerous factors led to an unprecedented surge in population growth in Western Europe. In England, for example, the population tripled between the years of 1750 and 1900. 

Reasons: One reason for the example above. (IF YOU DON’T HAVE A REASON, DON'T GIVE AN EXAMPLE!)

The greatest cause for the surge in population at the start of the Industrial Revolution was technology. New agricultural techniques, equipment, and fertilizers led to a major increase of crop yields and therefore lower death rates. Infant mortality rates were also decreased due to technology in that medical procedures and sanitation had greatly improved allowing for fewer infants to fall victim to early death which was a major cause for population growth to stay low during the years before the Industrial Revolution. 
Paragraph 5:
Restatement of the thesis that is NOT an exact copy of the thesis in paragraph 1.

In Western Europe between 1750 and 1900, both shifts in population trends and technology caused the Industrial Revolution while the effects of the Industrial Revolution included the creation and exploitation of the industrial working class.  


Synthesis: A Explicitly analyze an additional category of evidence that was not called for in the prompt. Connect the topic of the prompt to other historical periods, geographic areas, or set of circumstances. Connect the topic of the prompt to another social science discipline- economics, history, sociology, psychology, government, anthropology.

(Different geographic era) Had the Industrial Revolution began in China as opposed to Western Europe, one could argue that the exploitation of the peasants may have less harsh there than they were in Europe. Though Chinese history has witnessed the subjugation of a peasant class for most of the agricultural age, a respect for peasants as “the backbone of the country” has permeated throughout Chinese history much more than in the history of Europe. 
(Different circumstances) The causes for the Industrial Revolution lay greatly in the technology that accompanied it, but if such advances as steam power had come much later in the process of industrialization, perhaps the movement would have been less transformative. Furthermore, without steamships to push trade into the Indian Ocean, up the rivers in Africa and along the banks of the Yangtze River during the Opium Wars, maybe Europe would not have kept its dominant edge against the world during the era. 
